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. The cross elasticity between two
differentiated products which can be
substituted to each other to some extent
is
(A
(B
(C
(D
. In consumption function Y = a + by, what
does 'b' denotes ?

(A) Slope of consumption line

(B) MPS

(C) C/Y

(D) Effects of multiplier

Positive and finite
Positive and infinite
Negative and finite
Zero

~— N S S

. Physical quality of Life Index' was
constructed by

(A) Morris D. Morris (B) J.S. Goldstein
(C) E.E. Hagen (D) G.M. Meier

. "Efficient provision of a good that requires
the sum of marginal benefits derived by
different individuals should equal marginal
cost of providing it" is called as

(A) Private good (B) Public good
(C) Mixed good (D) Traded good

. According to secular deterioration

hypothesis, the income elasticity of
demand for primary products is

(A) Greater than Unity

(B) Infinity

(C) Equal to Unity

(D) Less than Unity

. The tenants enjoying permanent and
heritable rights on land are termed as
(A) Tenants at will

(B) Sub-tenants

(C) Occupancy tenants

(D) Heritable tenants
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10.

11.

12.

Based on a sample of size 100, the mean
of a binomial distribution is found to be
10. Hence the variance of that binomial
distribution is

(A) 0.9
(C) 90

B) 9
(D) 0.09

The demand function based on 'Stock-
adjustment principle' was developed by

(A) James Tobin (B) Baumol
(C) Nerlove (D) Richard Stone

Demand side unemployment is partly
caused by

(A) Imperfections in the labour markets
(B) Immobility of factors

(C) Demographic changes

(D) Lack of aggregate demand

The infant mortality rate in India has
registered a significant decline from 129 per
one thousand live births in 1971 to 42 in

(A) 2005 (B) 2010
(C) 2011 (D) 2012

The mismatch between the revenue
raising capacity and expenditure needs
of the centre and states is referred to as

(A) Vertical fiscal imbalances
(B) Horizontal fiscal imbalances
(C)
)

(D) Centre-state imbalances

Expenditure imbalances

The gold component of IMF quota of a
country was

(A) 25 per cent
(B) 50 per cent
()

(D)

75 per cent
125 per cent
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13.

14.

15.

16.

17.

The value of money multiplier depends on
(A) Investment

(B) Consumption

(C) Interest rate

(D) Expenditure

"A development that meets the needs of
present generation without compromising
the ability of future generations to meet
their own needs is called as

(A) Inclusive development
(B)
(©)

)

(D) Sustainable development

Equitable development

Human development

Which of the following does not belong to
“Eight core Industries" of India ?

(A) Natural Gas
(B) Fertilizers
(C) Cement
(D) Textiles

Who announced the introduction of
National Food Security ?

(A) Man Mohan Singh
(B) P. Chidambaram
(C) Arun Jetly

(D) Pranab Mukharjee

The budget constraint of a consumer has
Rs. 1,500 to be spent on two commodities,
x and y with the prices Rs. 30 and Rs. 10
respectively is

(A) 10x + 30y = 1500
(B) 30 x + 10y = 1500
(C) 50x + 150y = 1500
(D) 150 x + 50y = 1500
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(A) 10x + 30y = 1500
(B) 30 x + 10y = 1500
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18.

19.

20.

21.

If a qualitative variable has m categories,
the number of dummy variables to be
introduced in the model is

(A) m+1 (B) m
(C) m—-1 (D) 2m -1
In game theory, the strategy corresponding
to the condition,
max  min (aij) = min max (aij)
i j j i
is called
(A) Mixed strategy
(B) Pure strategy
(C) Dominated strategy
(D) Dominating strategy
Which of the following short-run cost

curves are 'U' shaped in the Traditional
Theory of Cost ?

I. Average total cost

Il. Average variable cost
lll. Average fixed cost
IV. Marginal cost

(A) land I

(B) land Il

(C) I, 1 and IV
(D) I, lland IV

Baumol -Tobin's Demand for money says
that

a) Velocity is positively related to
changes in interest rates

b) The demand for money for
transacting is negatively related to the
level of interest rates.

c) Speculative demand for money is
positively related to the level of
interest rates

(A) aonly correct
(B) b only correct
(C) c only correct
(D) a and b are correct

18.

19.

20.

21.
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22,

23.

24,

Which of the following concepts were
used to explain the theory of "Unbalanced
Growth" ?

a) Social Overhead Capital

b) Social Marginal Product
c) Private Marginal Product
d) Directly Productive Activities
(A) aand b
(B) aandc
(C) aandd
(D) band c

Which of the following statements is
correct about the technical characteristics
of a pure public good ?

Non-rival in consumption
Exclusion is not possible.

Rival in consumption

)
)
)
)
)
)
)
)

IV) Exclusion is possible

(A) I, Il'and Il are correct

(B) I, Il and IV are correct
(C) I, 1, llland IV are correct
(D) l'and Il are correct

Which of the following International
organisations are called "Bretton Woods
Twins" ?

l) IBRD
) WTO
[1) UNCTAD
V) IMF
(A) land Il
(B) land Il
(C) land IV

)

(D) llland IV
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25.

26.

27.

Which of the following statements are
correct for Indian economy ?
I) A decrease in per-capita availability

of pulses

II) An increase in per-capita availability
of sugar

[Il) A decrease in per-capita availability
of tea

IV) A decrease in per-capita availability
of edible oil

(A) I, 1I, Il and IV are correct

)
(B) l'and Il are correct
(C) llland IV are correct
(D) l'and IV are correct

The method of estimating the probability
of an aircraft landing safely in the airport
is known as

a) Classical method
Empirical method
Apriori method
Aposteriori method
(a) and (c) are correct
(B) (a) and (d) are correct
(C) (b) and (c) are correct
(D) (b) and (d) are correct

b
c
d
(A

~— N e N N S

Identify the properties of the Cobb.Douglas
production function, Q = AL* KB

I) The marginal product of labor is equal

Q

to oo —.

Il) The marginal product of capital is

equal to [3% :

[ll) The elasticity of substitution is equal to 2
IV) The marginal rate of substitution is equal

to g E
pL
(A) I, Tand 1 (B) I, 1l, and IV
(C) I, lland IV (D) lll'and IV
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28.

29.

30.

If the government wants to reduce

unemployment then the Government

could

a) Increase spending

b) Decrease spending

c) Taxes should be increased

(A) aonly correct

(B)
)
)

(C) c only correct

b only correct

(D) b and a are correct

Which of the following represents the
'‘Early Expanding stage" of the theory of
demographic transition ?
a) High Fertility Rate
b) High Mortality Rate
c) Low Fertility Rate
d) Declining Mortality Rate
(A) (a) and (b)
) (a) and (d)
) (b) and (c)
) (

)
) and (d)

(B
(C

(D) (c

Which of the following are the main
objectives of the Fiscal Responsibility and
Budget Management Act, 2004 ?

I) To reduce fiscal deficit

To adopt prudent debt management
[ll) To generate revenue surplus

IV) To promote co-operative federalism

)
)
)
(A)
)
)
)

IV only
(B) 1only
(C) I, lland 11l only
(D) II'and Il only
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31.

32.

33.

34.

Which of the following are the assumptions
of R. Dornbusch's Sticky price model ?

I) Prices and wages adjust
instantaneously to excess demand
supply.

II) PPP holds in the long-run

[Il) Capital markets are efficient and are

in equilibrium.

IV) Fixed output at full-employment
level.

(A) land (B) Il'and 1l

(C) I, Mand IV (D) I, Nland IV

Other things remains constant if quantity
of money increases 100 % value of money
changes

a) Increase by 100%

b) Decrease by 100%
c) Decrease by 200%
d) Increase by 200%
(A) a only correct
(B) b only correct
(C) c only correct

)

(D) donly correct

Which of the following are the land revenue
systems ?

I) Zamindari system
II) Ryothwari system
[Il) Mahalwari system

(A) lonly (B) I, lland 1l
(C) Nl only (D) 1l only

The Industrial Policy Resolution of 1948
had identified which of the following
industries to be reserved for production
by the public sector ?

a) Arms and Ammunition

b) Atomic Energy
c) Railways
d) Airways
(A) (a) and (d) (B) (b) and (d)
(C) (c) and (d) (D) (a), (b) and (c)
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35.

36.

37.

Which of the following are part of Green
Revolution ?

a) High yielding variety of seeds
b
C
(A
(B
(C
(D

Fertilizers and pesticides
Providing irrigation facilities
a only correct

b only correct

a, b, c are correct

a, b are correct

~— N e e e N

If e, and e,, p, and p, are the elasticities
and prices in two different markets of a
discriminating monopolist and if e, > e,,
then at equilibrium level

a) p,>p, b) p,< p;
c) MR, > MR, d) MR, < MR,
A

)

) a and c are correct
B) b and d are correct
)

)

(
(
(C) aonly is correct
(D) b only is correct

Though OLS estimators are linear and
unbiased, they are not efficient when there
exists the problem of

a) Multicollinearity

b) Heteroscedasticity
c) Auto correlation

d) Specification error
(A) aand b are correct
(B) a and d are correct
(C) b and c are correct

)

(D) b and d are correct
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b) p,< p;
d) MR, < MR
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38. The ridge lines

a) Represent the least cost
combinations

b) Enclose the area of the rational
operation of the firm

c) Represent the profit maximisation
points

d) Cover the range over which marginal
products are positive

a and c are correct
b and d are correct
a and b are correct
c and d are correct

(A
(B
(&
(

)
)
)
D)

39. Assertion (A) : Economic efficiency is a

necessary but not sufficient condition for

the maximisation of social welfare.

Reason (R) : Ethical or just distribution

of income is necessary to maximise social

welfare.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

40. Assertion (A) : In classical theory total

money was in active circulation as a
medium of exchange.

Reason (R) : The relation between

changesinthe money supply and changes

in the price level was proportional

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation for (A)

(C) Both (A) and (R) are false
(D) (A) is true, but (R) is false
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41.

42,

43.

44.

Assertion (A) : Industrialisation provides
a wide and expanding range of consumer
goods.

Reason (R): Industrialisation
encourages the agriculturists to increase
farm produce.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Assertion (A) : Provision of public goods
needs political process.

Reason (R) : Consumers of public good

do not reveal their true preferences for it.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Free international trade
benefits only a section of the population.

Reason (R) : Free international trade shifts
income distribution in favour of the scarce
factor of production.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : M, and M, are narrow
and broad measures of money stock.
Reason (R) : M, includes time deposits with
banks.

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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45.

46.

47.

48.

Assertion (A) : There exists the possibility
of coincidence of the two regression lines
YonXandXonY.

Reason (R) : If the correlation between two

variables X and Y is equal to 1, then there

is perfect correlation between X and Y.

(A) Both (A) and (R) are true and (R) is
the reason for (A)

(B) Both (A) and (R) are true, but (R) is
not the reason for (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

Assertion (A) : According to Baumol

managers seek to maximise sales rather
than profits.

Reason (R) : Growing sales give prestige to
the managers while growing profits go into
the pockets of shareholders.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Wealth of a society
consists of real assets such as land,
buildings, productive equipment.

Reason (R) : Assets refer tangible assets
and financial assets.

(A) Both (A) and (R) are not true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(D) Both (A)) and (R) are true

Assertion (A) : Population projections
depend on fertility and mortality rates.

Reason (R) : Registration of births and
deaths is necessary to estimate fertility
and mortality rates.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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49.

50.

51.

Assertion (A) : Public debt burden transfer
to future generations is appropriate for
financing of public capital outlays.

Reason (R) : Public debt burden transfer
to future generations ensures inter-
generational equity.

(A) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Members of the '‘Optimum
currency Area' should have approximately
the same rates of inflation.

Reason (R) : According to Kindleberger

political and social cohesion are important

than narrow economic considerations for

the success of optimum currency area.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Money market refers to the

institutional arrangements dealing with the

short term borrowing and lending funds.

Reason (R) : Money market meets the

short-term requirements of borrowers and

cash to the lenders.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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52.

53.

54.

55.

Assertion (A) : Indian agriculture is getting

feminised.

Reason (R) : There is a growing migration

of men to urban areas for better income

opportunities.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : Trade Union Movement in
India was adversely affected by the nature
of our working class.

Reason (R) : Trade Unions in India are
used to promote the interests of political
parties.

(A) (A) is true, but (R) is false

(B) (A)is false, but (R) is true

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true

Assertion (A) : Farm mechanisation and
crop productivity has a direct correlation.

Reason (R) : Farm mechanisation
saves time and labour, reduces cost of
production.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The expansion path of
Cobb-Douglas production is linear.

Reason (R) : The Cobb-Douglas production

function Q = A. L*. KPis a homogeneous

production function.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true but (R) is not
the reason for (A)

(C) Both (A) and (R) are true and (R) is
the reason for (A)

(D) (R) is true but (A) is false
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56.

57.

58.

Assertion (A) : If the dependent variable
Y and the explanatory variable X are non
stationary, high R? and high t value may
lead to the wrong conclusion of meaningful
relationship between X and Y.

Reason (R) : If Xand Y are non stationary,

a high R? may simply reveal that the two

variables share common trends without

any true relationship.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true and (R) is
the reason for (A)

(C) Both (A) and (R) are true but (R) is not
the reason for (A)

(D) (A) is true but (R) is false

Assertion (A) : The Linear Programming
technique deals with the problems involving
linear inequalities.

Reason (R) : The quantities of factors
absorbed in the production of commodities
cannot exceed the available quantities of
these factors.

(A) Both (A) and (R) are true but (R) is not
the reason for (A)

(B) Both (A) and (R) are true and (R) is
the reason for (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Arrange the following degrees of price
discrimination in the increasing order
of taking ‘consumers' surplus from the
consumers.

[) First Degree
Il
Il
(A
(C

Second Degree
Third Degree

L, 10, 11

[, 1, 1

B) 11,1, 1l

)
)
)
) (D) 1, 11, 1
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59.

60.

61.

62.

Arrange the following consumption
function in a sequential order.

a) Life cycle Income hypothesis
b) Absolute Income hypothesis

c) Relative Income hypothesis

(A) a,b,c,d (B) b,c,d, a

)
)
d) Permanent Income hypothesis
)
(C) b,a,c,d (D) c,d,a, b

Arrange the following growth models in a
chronological order.

Meade Growth Model
Domar Growth Model
Harrod Growth Model
Solow Growth Model
(B) a,b,c,d
(D) d,c, b, a

Arrange the following budgeting systems
in the chronological order of their year of
introduction by Government of India.

I) Performance Budgeting
Il
1
(A
(C

Zero-base Budgeting

Outcome Budgeting
I, I and Il (B) I, land |

)
)
)
) 1, 11 and Il (D) 1Il, 1 and Il

Arrange the following approaches to
Balance of payments in chronological
order.

I) Elasticity Approach
Il
Il
(A
(C

Absorption Approach

Monetary Approach
[, 11, 11 (B) 1, 11, I

)
)
)
) 11,0, 1 () 1L, 11, 1
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63.

64.

65.

66.

Arrange the following in ascending order
of the year in which they were introduced
in India.

I) Securities Exchange Board of India
Il) National Stock Exchange

lll) National Securities Clearing
Corporation

IV) Monetary Policy Framework

Agreement
(A) L, Nand IV (B) I, 1V, land Il
C) v, il and 1 (D) I, I, land IV

Arrange the methods of measuring trend
in a sequence from the crude method to
the most accurate method.

a) Moving Average Method
b) Graphical Method

c) Semi average Method

d) Method of Least Squares
(A) a,b,c,d (B) b,c,a,d

(C) b,a, c,d (D) a,c, b, d
Arrange the following general equilibrium

models in chronological order of their
appearence.

I) K.J. Arrow and F. H. Hahn
I
1
(A

(C

Leon Walras

K.J. Arrow and G. Debreu
[, I, 1 (B) I, 1,
[, I, | (D) I, 1,1

N~ ' S S

Arrange the following money functions in
a sequential order.

a) Medium of exchange and measure of
value

b) Liquidity and basis of credit

)
c) Store of value
(A) a,b,c (B) b,c, a
(C) c,b,a (D) a,c, b

63.

64.

65.

66.

e85 Se (08 T3 O VoSByToS
ERTQEDT afre E3008” domen D
£ S00& JoDF DoKso.

1) 2srg8e3d FEyoef %) esh godar
) 555 O ek

) 3556 2558630 Saxb00h 5EYOSS

V)

)

)

(3535 TR BT Q0TT® 83030
(A) L&V (B) LIV, 1 &I
C) v, 1L &l D) L, ma&Iv

Ge3 T (resus) 0o HGS Kool
PNBAD HG DO &DATAOD BB
S56 155008° @roN050.
a) OB JPEFETe HGS
b) Ber DEre $¢S
C) ©g-5ego 5G9
@ @
d) £330 9GS
(A) a,b,c,d
(C) b,a, c,d

(B) b,c,a,d
(D) a,c,b,d

€08 T TEs BIIFOg SVITTOS> T¢I
SITYH 0 BFTTOM 570 FTOVE S0
@B08)00.

[) 2.8 es(0° 080K JP.I5.5558
) &3S Fre
1) 3.2, es@’ 500050 2. B
(A) 1,11, 11l (B) 1,1, 1

)

(C) 11,1 (D) 1,1, 1

0B (5395 oo HEREBE” @raKes.

) AATIOTY FTFFS0B0 FBN oo
NGRSO

b (355855300 500K DE3AE esrEd

)
C) dewd A
(A) a,b,c (B) b,c, a
(C) ¢c,b,a (D) a,c, b



67.

68.

69.

70.

Arrange the following poverty studies in a
chronological order.

I) P. K. Bardham's study

II) P.D. Qjha's study

[11) M. Ahluwalia's study

V) S. D. Tendulkar's study
(A) 1L, v (8) 1, 1,1, 1V
©C) IV, I (D) IV, 11,1, 1
Arrange the following sources of revenue
receipts of the centre and states combined

in an ascending order of their importance
for the year 2015-16 (B. E.)

I) Non-Tax Revenue

II) Direct taxes

[Il) Indirect taxes

(A) M, 1Mand | B) I, and 1l
(C) I, and | (D) I, lland I

Arrange the following exchange rate
systems in the increasing order of
rigidity.

I) Fixed Exchange rates

Il
1

) Managed Flexibility
)
IV) Crawling Peg
)
)

Floating Exchange Rates

(A) 1L 1V,
(C) v, 1,1

B) 11, 11l 1, IV
) 1,11, IV, 1ll

Arrange the following Financial Institutions in
a sequential order to their establishment.

a) SEBI b) UTI
c) IDBI d) RRB
(A) a,b,c,d (B) b,c,d, a
(C) d,c,b,a (D) a,c,d, b

67.

68.

69.

70.

$08 Y BFOINT VR SOERIHIT T
50080,

1) 3. &g doo); exdsoido

1) .. 2,80 cdoog); &(I;0N000

Ill) a0, errdais @), eeobso
IV) an®.é. Socre),b @), egsaniso
(A) 11110, 1V (B) 11, 1,11, IV
(C) I, 1, 1V, | (D) IV, 11, 1, 11l
Be 308 Zo@-orgros’ SrEY STy
Sareresy 2015-16 (B. E.) $058y505%

88 Te (EIT BIroD §GoP0 JodE
DAL,

1) S5 escrolo

) @5 0500
1) &% S0
(A) L 1 sosaso | (B) 1, 111 Sodoxs I
(C) I, N odexo (D) I, 1l Sodaxo I

o0 SrEEy Oy Sgipeto Wy E)ESs
E5008° e508y500.

1) $6 5089 Bew

Il) auesssomssg dO¥ 50

1) DEoBE STCHB0) SFEEY Bew

V) @78 descso

(A) 1L 11V, B) 1,11, 1,1V
(C) NIV, 1, 1 (D) 1,10, IV, N

8od (55 VoReR> & DT D BN
£9:30R80D HEIIES00E” @PAIK2.

a) SEBI b) UTI
c) IDBI d) RRB
(A) a,b,c,d (B) b,c,d, a
(C) d,c,b,a (D) a,c,d,b



71.

72.

73.

74.

Arrange the following in ascending order
of the year in which they are held.

[) Bali Summit
Cancun climate change conference

lll) Copenhagen conference

I1)

)
V) Earth Sumit
(A) ML 1, Tand IV
(B) I, 11, 1lland IV
(C) IV, I, llland Il
(D) 1, 1, and IV

Arrange the following sub-sectors of
industry based on their share in Gross
Value added in 2016-17 in ascending
order

a) Mining and Quarrying
b) Manufacturing
c) Electricity, Gas and Water Supply
d) Construction

(A) a,b,c,d (B) b,a,d,c
(C) d,c,b,a (D) b,d,a, c

Arrange the following programes in a
sequential order.

a) New agriculture strategy
b) Macro managerial of agriculture
c) National agriculture policy

)

)
d) Rastriya Krishi Vikas Yojana
(A) a,b,c,d (B) d,b,c, a
(C) b,c,a,d (D) d,a, b, c

Arrange the following demand curves in
the increasing order of their price elasticity
of demand.

horizontal line
vertical line
steeper line
flatter line
b,c,d,a
a,c,db

b

vvvvvv

c
d
(A
(C

71.

72.

73.

74.

52 (€08 T3 D Do BT IS’
365&0@23&2658 585789 @é&oé’s Doy B,
£ $00d JoDF DoXBw.

[) 2® D55°>%0

1) 5058 Trarsses Sy H¥T7E0
|||) §0SNS $HTR%0
V) 2§ w3550
(A) 111, 11, 1 508050 IV
(B) 1, 11, Il 55805 IV
(C) IV, 1, 1l 208050 I
(D)

D) 11, I, 1l 5085 IV

Eod FBFWE ensomress 2016-17 &
00D Sy DS’ T3 Ter esgESone
38550 @booe?s €950089)000.
a) Aeww Soko
b) ®ax>d Soro
C) DS, TO0 HodAKs Ve HEHo?
d) Joees Sorio
(A) a,b,c,d (B) b,a,d,c
(C) d,c, b, a, (D) b,d, a,c

C08 T HEBEB0E” @ATAH0.
Q) JPED BESTOL AFB0

b) g5ra Syre cXrergn

C) 2ol SgHTrad AHsH0

d) TRe EHITHATED

(A) a,b,c,d (B) d,b,c, a

(C) b,c,a,d, (D) d,a,b,c

§od 8 G3Tol FEBoY) wed ddrok
oo 387578 (5:5008° e95080y500

a) B5roBS O
b) Jewvd) S woe B
C) 55 T O
d) 5555 e O
(A) b,c,d, a
(C) a,c,d, b

(B) a,d,c, b
(D) b,d, c, a



75. Arcrjange the following steps in sequential
order.

a) Obtain the estimates of the structural
coefficients from the reduced form
coefficients.

b) Convert the simultaneous equation
model into reduced form equations.

c) Check the model for identification
problem.

d) Estimate the reduced form coefficients
by OLS method.

(A) c,d, b, a (B) c,b,d, a
(C) a,b,d,c (D) b,a,d, c

76. Arrange the following Oligopoly models in
thelr C ronologlcal order.
a) Sweezy's kinked demand curve
model.

b) Chamberlin's Oligopoly model.
c) Bertrand's Duopoly model.
d) Cournot's Duopoly model.
(A) a,b,c,d (B) a,c, b, d
(C) d,c,b,a (D) ¢c,d,a,b
77. List -1 List -1l
Nature of Goods Income Elasticity
a) Luxury goods 1) Positive
b) Necessity 2) Positive and
goods greater than
unity
c) Inferior goods 3) Positive and
less than unity
d) Normal goods 4) Negatl\(/je
c
A 3 2 4 1
B) 2 3 1 4
C) 2 3 4 1
D) 2 1 3 4
78. Match List — | with List—II .
List -1 List -1l
a) Schumpeter i) Money interest
and prices
b) Hansen i) The economics
of welfare
c) Don Patinkin  iii) A guide to
Keynes
d) A. C. Pigou iv) History of
Economic
Analysis
a b c d
(A) v iii [ i
(B) iv i iii [
(C) i i iii iv
(D) i iii iv i

75. 800 Frroren $SEoNE00s @akoh.
) JTUETHE Hea5080 BROVY BHT°T°
800G Foseso.
b) 9505798 DoETe DA SRoDI
BBTTE BrGyio
C) SBarm B0 BXdgk0 ks o
d) BRODD DB SR BT DGE %0
OB DA
(A) c,d, b, a (B) c,b,d, a
(C) a,b,d,c (D) b,a,d, c

76. 0O BNy SRR 570 SEVEN0
&° D050,

a) e ooy, 808 &Aool By ST
b) T0addS $8E Jrghog SV

c) Dberol Mooy, Ay SHaTw

d) 5°5:eS” ok, Agrgog :sm

A) a,b,c,d (B) a,c, b, d
C) d,c,b,a (D) c,d,a, b

77. ez — | ez — I

RV J5eTR0 SO0 mggsbééogo

a) Qo BJH 1) STEEo

b) @36 Sd9Hes 2) (5TByE0 580X
2,503 5oéd SEORN

C) Tu8E0 JdHes  3) (ST E0 00k
2.503 50éd BEYD

d) Joroer Do 4) ewos:?é:;go

a b c
(A) 3 2 4 1
B) 2 3 1 4
) 2 3 4 1
(D) 2 1 3 4
78. Oz - | ez — |l
a) Soonesd i) 300 0¢8] o0& PR
b) 35528 i) & 5o s esH 5@395
C) =5 3535 i) DR ew &5,
d) 2.2. 2 iv) J"gé 59 DETE
DO
a b c d
(A) v iii [ i
(B) v i iii [
(C) i i ii iv
(D) i ii iv i



79. Match the books in List — | with authorsin | 79. erfize — 1 % ogreds exdie — Il §°

List — I1. NOEEEOE a3 dEE05.
List -1 List—1I e — | o — I
a) Development 1) S. Kuznets a) GHoL0Ls 1) Q0R.5&ed
as Capability axre§ 588
Expansion DETN9y0
b) Economic 2) M.S. Ahluwalia b) J5WE FS  2) avo.ond.
_GrOWth_ and 0908 o800 Sreioiolevey
income |T1equallty 2056 o5
c) :;‘eq“?“ty’d 3) A.K.Sen €) 3ds%des, 56, 3) B8
overty an 208 BHoDI0S
Development q § et 4 Bl
d) Theory of 4) J. A. Schumpeter ) X0 e ) B S0t
Economic 575
Development GoRdo0e
a b c d a b c d
A) 1 > 3 4 A 1 2 3 4
B) 3 1 2 4 (B) 3 1 2 4
(C) 4 3 2 1 € 4 3 2 1
D) 3 4 1 2 © 3 4 1 2
80. Match the following : 80. &+ 208 773D 2&BBEHoR0.
List -1 List-1I e — | D — |l
a) Annual Financial 1) Adolf Wagner a) O 9% (556 1) emd) b
Statement AT T

b) 2363?(3{33?6& U°83§S'°C5§ 2) @;Sggg 112
oo Jo° o

€) 2025508 9650y 3) PeOS 0Bk

b) Law of increasing 2) Article 112
state activity

c) Critical Limit 3) Wizeman and
Hypothesis Peacock Rg
d) Displacement 4) Colin Clark d) &oee® $OB0 4) 03 56,
effect a b c d
a b c d (A) 2 1 4 3
A 2 1 4 3 B 1 2 3 4
B 1 2 3 4 C 4 3 2 1
€ 4 3 2 1 D) 3 1 2 4
(D) 3 1 2 4




81.

82. Match the following :

List -1
Regional Bloc

a) SAARC
b) ASEAN
c) E

d) NAFTA

a

@)

N—
W W NN =
A D=2 N T

List -1

a) Limitation of

national income
estimation

b) GVA + taxes —
Subsidies

c) National
Agriculture

Mission
d) NABARD
a

O

N
w A N W
A W = =2 T

List -1l
Member Country
1) Mexico
2) Belgium
3) Afghanistan
4) Singapore

d

- N W ~ O
N = h~h @

List — Il
1) GDP

2) 2005-06

3) Non-monetised
sector

4) 1982

c d
2 4
3 4
2 1
1 2

81.

o - |
(FPodats Sl
a) SAARC
b) ASEAN
c) E
d) NAFTA

a

W w N =
A A =2 N T

e —
Seggo
1) 2088

82. 52 (300 T3S e2BRSTORW

N — |

a) 2k eserald

90T DO

b) GVA + o0 —

éé’)gésm

C) DS F95end
OS]

d) NABARD
a b
(A) 3 1
B) 2 1
C) 4 3
(D) 3 4

>Nz —

1) GDP

2) 2005-06

3) (525505er 5 Goro

4) 1982

c d
2 4
3 4
2 1
1 2



83. Match the following :

List -1 List -1l
a) Simple random i) Non probability
sampling sampling
b) Judgement ii) Heterogeneous
sampling groups of
homogeneous
units
c) Stratified random iii) Homogeneous
sampling groups of
heterogeneous
units

d) Cluster sampling iv) Equal probability
of being selected

a b c d
(A) v i i iii
(B) i iv iii ii
(C) i iv i iii
(D) v i iii ii
84. List -1 List- i

Friedman-Savage Decision
and Markowitz

Hypotheses

a) Low and high 1) Risk takers

Income levels

b) Middle income  2) Risk averters
level

c) Small increase or 3) Diminishing
decrease inincome  Marginal Utility
of money

d) Large increase 4) Increasingin
or decrease Marginal Utility of

in income Money
a b c d

(A) 2 1 3 4
B) 2 1 4 3
C) 4 3 2 1
(D) 3 4 1 2

83. 52 (300 T3S e3BRTWOBL:

N — |

a) Feroes T
BSBOTHH

oz — I
i) wogr3 g &
RBBOTIB0

b) Do PSBaDDIDD i) s oS’

C) $0B AN
S5BBOTHH

d) MW AXTEyNE
EAVADXD[0

84. e — |

“?géwS-bvéé S00a%

BrE DG BOSeysw
a) @), ©OF estrakd

@;oooem

b) ocsgo esTroll
P00
[&)

C) esTraXod’ ee
2S5 Soe
ééKfJ\CS@

d) eoronoes’ 5rd
S S
B

a b
(A) 2 1
B) 2 1
(C) 4 3
(D) 3 4

Herdaky ATV

i) ezedaxs Koo

SBoo%), e
SV

iv) 5075 SoerSgs

EOAD T3 Jos
c d
ii iii
iii i
i iii
iii i

>z —

X)gojoo

1) SR80
2 SOCDTE0
2) 53850500 520
BIPETTE

3) v G5 0D
BBress0

4) DEoMOBISY (GBI
G0 (DAITeS0

- N b WO
N = W b~ o



85. Match List — I with List — II.

List -1 List -1l
a) J. R. Hicks i) Over-investment
theory
b) Hayek ii) Innovation theory
c) Schumpeter i) Life cycle
Hypothesis
d) Modigliani iv) Principle of
acceleration
a b c d
(A) v [ i iii
(B) i i [ iv
(C) i [ iv ii
(D) i i iii iv

86. Match the concepts in List — | with
Economists in List — Il

List -1 List -1l

a) Golden Age 1) Kenneth Arrow
b) Leaming-by-Doing 2) Joan Robinson

c) Neutral Technical 3) P.M. Romer
Progress

d) Learning by 4) R. F.Harrod

Investment
a b c d
(A) 1 2 3 4
B) 2 1 4 3
(C) 3 4 2 1
(D) 4 3 2 1

85. 2z — | e — || & 23855853508,

o — | e -l
a) 2.e0.2°8, i) @8 beyed drroso
b) raxs ii) 998y drrodo
C) oohesd i) 23595 BIE DO%LYS
d) DoodAaid IV) DABTes HoPEs0
a b c d
(A) v [ i iii
(B) i i [ iv
C) i [ iv iii
(D) i i iii iv
86. =z — | &% e edze — Il &9 0¥
DB e3BVGB0H0.
e — | e — I
a) g avorio 1) 38 8

b) 29 DT i) §er02) &S TASHS

C) ey Jroddy 3) 2.050.8%505
DO NS
d) eped oo 4) s6.2%. 586&
dnSHco
a b c d
(A) 1 2 3 4
(B) 2 1 4 3
(C) 3 4 2 1
(D) 4 3 2 1



87. Match the following :

List -1

List -1l

a) Fourteenth Finance 1) 1994-95

Commission

b) Finance Commission 2) Bimal Jalan

c) Expenditure
Management
Commission

d) Service Tax

a b
(A) 1 2
B) 2 3
(C) 3 4
(D) 4 2
88. List -1

a) Krugman Model
b) Falvey Model

c) Lancaster Model

d) Brander-Krugman

3) 2015-20

4) Article 280 of
the Indian
Constitution

N VI N AR
W —a=2bho

List-1I
1) Vertical product
Differentiation
2) Strategic Inter-
dependence
3) Horizontal
product
differentiation
4) Spectrum

Model Approach
a b c d
(A) 3 1 2 4
B) 3 1 4 2
< 1 2 4 3
(D) 2 1 3 4
89. List -1 List -1l
(Name of the Bank) (Year)
a) Regional Rural Banks 1) 1982
b) Reserve Bank of India |]) 1955
c) Exim Bank I 1975
d) State Bank of India V) 1935
a b c d
(A) Il 1] v
B) 1] v I
<c m v I Il
(D) M Il I v

87. 52 (208 773 e3BBE0R0.

erd)ee — |
a) BoHES G Boo
b) g Soxoo
C) 500 ATgT°es
SRR
d) 2de D5y

(A)
(B)
(C)
(D)

FNGIR I R
N A WN D

88. Qe — |
a) EomyR0 SBor
b) P& $8oro

C) oros%Rb S

89. e — |
(P50 BE0)
a) roSay [TRoen
€J°§O§J€D

b) &ro® Besby ey

€) NS> eroH

d) &rodak el eres

a b
(A) Il
B) 11
<S) moov
(D) Il

e — I
1) 1994-95
2) DS eserd
3) 2015-20

4) &ro% Trerol
95¢ 280
d

- N b WO
—_

3

e — I
1) o082 533 A0
2) @“’éﬁe‘§&§ Nlehv\ie)
e37°0%
3) ¥5roBS
5%
ég)(ﬁgo
4) ?ooyéo D50

whBANO
AN CIIN.Y

e -l
(So%sye)
) 1982

II) 1955
Iy 1975
V) 1935
c d
11 Y%
IV [
I [l
I Y%



90. Match the following :

List -1 List -1l
a) Command Area 1) 1985
Development Program
b) Zamindari System 2) 1974-75
c) World Trade 3) EastIndia
Organisation Company
d) Chakravarthy 4) 1995
Committee
a b c d
(A) 2 3 4 1
B) 4 3 2 1
c 1 4 3 2
(D) 3 4 2 1
91. Match the items in List — I with the years
in List —II.
List -1 List -1l
a) National Investment 1) 2014
Fund
b) National Manufacturing 2) 2011
Policy
c) Disinvestment 3) 2005
Commission
d) Make in India 4) 1996
Programme
a b c d
A) 1 2 3 4
B) 4 3 2 1
(C) 3 2 4 1
(D) 3 4 2 1
92. Match List — I with List —II.
List -1 List -1l

a) NABARD i) 1999-2000
b) KCC (Kisan Credit Card) ij) 2007

c) National Agriculture iii) 1998-99
Insurance Scheme
d) National food iv) 1982
Security Mission
a b c d
i i ii iv

(A)

B) i i iv i
C) iv i i i
(D) i v i i

90. 5¢ (308 T3S e3BRSWO[0.

ez — | ez — Il
a) whvod® oy o 1) 1985
S0 Do
b) esoowrd g5 2) 1974-75
C) (B0 Tedesy 0 3) 4R goda>
SR
d) DE50 Eed 4) 1995
a b c d
A 2 3 4 1
(B) 4 3 2 1
(C) 1 4 3 2
(D) 3 4 2 1
91. o — | 8 worreds o — I &°
HODBYT OB esBHSTBOR0.
e — | e — I
a) erdoh peped 29 1) 2014
b) erdar sa3rd dgwe  2) 2011
C) N2 eS0TsE 3) 2005
5008
d) 0§ 35 godaxr 4) 1996
S5 ER00
a b c d
(A) 1 2 3 4
B) 4 3 2 1
(C) 8 2 4 1
(D) 3 4 2 1
92. exdir— | & &y el el — I 8 5e3E
2389505000,
e — | e — I
a) NABARD i) 1999-2000
b) 322, Bso 285) i) 2007
C) erdos Bgdan s i) 1998-09
DEEI0
d) erdod es3s g iv) 1982
oS30
a b c d
(A) i i iii iv
(B) ii iii iv i
(C) v iii i i
(D) iii iv i i



93. Match the following :

94. Match the following :

95.

List -1
a) Input-output
Analysis

b) Linear
Programming

c) Integration
d) Differentiation
a b
(A) 4 3
(B) 4 3
(C) 3 4
(D) 3 4

List—1
a) Multicollinearity

b) Heteroscedasticity

c) Autocorrelation

d) ldentification
Problem
a b

Match the following
List -1

Employment

Multiplier

Multiplier

Acceleration
Principle

a b
ii iii
iv [
iii ii
i iv

A

(
(B
(C
(D

N N N

1)

2)

3)
4)

N==No

i)
i)
ii)

iv)

List—1I
Total
functions to
marginal
functions
Marginal
functions to total
functions
Technological
coefficients
Inequality
constraints

d

1
2
2
1

List—=1I
Rank and order
condition
Durbin-Watson
statistic
Glejser Test

Variance
inflation Factor

List-1I

i) J. M. Keynes

Investment Multiplier ii) T. Haavelmo
Balanced budget iii) J.M. Clark

iv) R.F. Kahn
c d
i iv
ii iii
iv i

. o - |
a) &S eomisy JBe
b) Dsprs ©erdy
C) oo
d) exdgedo
a b

(A) 4 3

B) 4 3

Cc 3 4

(D) 3 4

94. 208 T3 23BED0R0.

e — |

a) 2250 Ddo0go

D) eoxso QD550

(D) i i

95. €08 7730 e3B80R0.

o - |
a) aOhTe Mesto

b) eagerdt roessin
C) o0 eges

MOEIEI0
d) DK Hoes B0
a b
(A) i ii
(B) iv i
(C) il i
(D) i iv

A ||
0080 00 8006
&0 HO0K
&ETP08 He0o S0k
D0YO POOLS
JrO3AE Koease0
QIAITPHB
DO

d

1)

2)

3)

N = = N o
— NN =

e —

) o°of dowso
23060

i) Cé@a)s 3”@0@5
NeseoSo

iii) Tesb 205

V) D338 G5
3580

iii iv
iii i

=z -l
i) J. M. 35‘3
i) T. odao
iii) J.M.s;géb

iv) R.F. g°5
c d



96.

Evolution of World Trading System

The WTO began life on 1t January 1995
succeeding the general agreement on
tarrifs and trade which had regulated
world trade since 1948. Over the past
23 years, the WTO has made a major
contribution to the strength and stability of
the global economy. Through the series
of agreements, the WTO helped to boost
world trade, resolved numerous trade
disputes and integrated the developing
countries into the world trading system. The
WTO agreements cover goods, services
and intellectual property. They spell out
the principles of trade liberalisation and the
permitted exceptions. These agreements
are not static. They are renegotiated from
time to time and there by new agreements
are evolved, through the biennial ministerial
conferences of the member countries.
The 4" ministerial conference held in
Doha, Gatar in November 2001 initiated
Doha development Agenda. The Agenda
contained 12 issues which were of special
interest to the developing countries. These
include violation of TRIPS rules in the
interest of public health. The 9" ministerial
conference held in Bali, Indonesia in 2013
adopted decisions to provide more options
to the developing countries to provide
"Food Security' to their people. The 10"
ministerial conference held in Nairobi,
Kenya in 2015 contained six major
issues including those on elimination of
agricultural subsidies, cotton and issues
related to the least developed countries.

The latest eleventh WTO ministerial
conference held in Buenos Aires Argentina
in 2017 took crucial decisions on fisheries
subsidies, e-commerce and on small
economies.

Source : WTO Annual Report 2017

The institution which regulated international
trade before WTO was

(A) IMF
(B) ITO

(C) GATT
(D) UNCTAD
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98.

99.

100.

WTO agreements cover trade in
) Goods

) Services

[Il) Intellectual property

V)
)
)
)

Natural persons

(A) land Il

(B) Il'and Il

(C) I, lland Il
(D) I, Nland IV

Assertion (A) : The WTO agreements are
not static.

Reason (R) : The WTO agreements are
renegotiated from time to time.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true, but (R) is false
(D) (A) is false but (R) is true

Arrange the following WTO ministerial
conferences in chronological order.

[) Doha
[I) Buenos Aires
III) Bali
V) Nairobi
(A) 1,1 v (B) 1, iIv,
C) L, v (D) IV, 1, 1,1
List -1 List -1l
(WTO Conference) (Major Issue)
a) Doha 1) Agricultural
subsidies
b) Bali 2) e-commerce
c) Nairobi 3) Public Health
) Buenos Aires 4) Food security
a b c d
(A) 2 1 3 4
B) 1 2 4 3
C) 3 4 2 1
(D) 3 4 1 2
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